

$$d_{\nabla} \nabla = d\nabla - \nabla \wedge \nabla$$

$$\alpha \overline{d_{\nabla} \nabla} = d^{\alpha} \nabla - \alpha \nabla \wedge \alpha \nabla$$

$$\beta \overline{d_{\nabla} \nabla} = \beta g_{\alpha} \alpha \overline{d_{\nabla} \nabla} \alpha g_{\beta}$$

$$-d^{\alpha} g_{\beta} = \alpha g_{\beta} \underbrace{d^{\beta} g_{\alpha}} \alpha g_{\beta}$$

$$\begin{aligned} \beta \overline{d_{\nabla} \nabla} &= d^{\beta} \nabla - \beta \nabla \wedge \beta \nabla = d \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta} + \beta g_{\alpha} \alpha \nabla \alpha g_{\beta}} - \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta} + \beta g_{\alpha} \alpha \nabla \alpha g_{\beta}} \wedge \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta} + \beta g_{\alpha} \alpha \nabla \alpha g_{\beta}} \\ &= \underbrace{d d^{\beta} g_{\alpha}}_{=0} \alpha g_{\beta} - \underbrace{d^{\beta} g_{\alpha}} \wedge \underbrace{d^{\alpha} g_{\beta}} + \underbrace{d^{\beta} g_{\alpha}} \wedge \alpha \nabla \alpha g_{\beta} + \beta g_{\alpha} \underbrace{d^{\alpha} \nabla} \alpha g_{\beta} - \beta g_{\alpha} \alpha \nabla \wedge \underbrace{d^{\alpha} g_{\beta}} \\ &- \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} \wedge \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} - \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} \wedge \beta g_{\alpha} \alpha \nabla \alpha g_{\beta} - \beta g_{\alpha} \alpha \nabla \alpha g_{\beta} \wedge \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} - \beta g_{\alpha} \alpha \nabla \alpha g_{\beta} \wedge \beta g_{\alpha} \alpha \nabla \alpha g_{\beta} \\ &= \underbrace{d^{\beta} g_{\alpha}} \overset{*}{\wedge} \alpha g_{\beta} \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} + \underbrace{d^{\beta} g_{\alpha}} \overset{\#}{\wedge} \alpha \nabla \alpha g_{\beta} + \beta g_{\alpha} \underbrace{d^{\alpha} \nabla} \alpha g_{\beta} + \beta g_{\alpha} \alpha \nabla \overset{*}{\wedge} \alpha g_{\beta} \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} \\ &- \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} \overset{*}{\wedge} \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} - \underbrace{d^{\beta} g_{\alpha}} \overset{\#}{\wedge} \alpha \nabla \alpha g_{\beta} - \beta g_{\alpha} \alpha \nabla \alpha g_{\beta} \overset{*}{\wedge} \underbrace{d^{\beta} g_{\alpha} \alpha g_{\beta}} - \beta g_{\alpha} \alpha \nabla \wedge \alpha \nabla \alpha g_{\beta} \\ &= \beta g_{\alpha} \underbrace{d^{\alpha} \nabla - \alpha \nabla \wedge \alpha \nabla} \alpha g_{\beta} = \beta g_{\alpha} \alpha \overline{d_{\nabla} \nabla} \alpha g_{\beta} \end{aligned}$$